(Z 1:15) 2= 2O|X| OfL[5t= StLtHS FLO[AR ZE T|E== 20 HA Li4l O[AL]

(Z 1:16) 20| DA M S=E|5[ o=t oA EO0|= AS1 20X = AS =
SHSOILL FHSO[L} SA[ASO[LE HASO|Lr BH=0] &f 2 HO¥D IS
ot S=ERAD

rlo

(Z 1:17) Lot 271 T=ECH BA AA| 2 Z=0] O et etH M=Leh E2=] 9] 1:3
(Z 1:118) & =2 u=[o] HE[Al2t A7t Z20|AR F2 A= 72 HA BA LiL! OfAIL
Ol= &3] =2 250| &/ of4jo|R

(Z 1:19) OIHXHME BE ST Z 0= 2H0f| HSEA SHA|

(Z 1:20) 29 HAt7te| |2 28-S O|FAL 2 & TOo A= ASO[Lt ot=0f A= AS0

1

2 0|0 Xp7| ot sHEoHA| £| 7| S 7[5k Of 2t

(Z 1:21) Tof ofot B2 H2| [{Lt Ot 22 A7t EJE HalE
(Z 1:22) O|Ml= 19| |HM 2l FS2= HO|Y0 =t=51A StAt HS|E HFst § |l

(Z 1:23) TE Hg7F BE0 Aot H ?o 24 MM LS| 2 B 532 22 0A
E=2|X| ofLotE a2|st2|2t O] 552 Mot 2RO A HutEl B L HE2 O
=2 0| ZA et

Z2MAME AL BFZ0| O|EF Abde] HER Qldl A0 X3l s Z2M 12| =5 XI7]7]
o == A 220 25 M AL Tt
At HiE2 MA0A O|ES0] FFotL A= AHSS0l sl geisty| EChe of+=Hol

FTAUXE dESHe =M =SS0 O|Th AbSOl LOtLt 5| F YK S LM ASLIC

ME HE2 M0l EXots 02 BaY + s 718 310 ST 05 D220 ?(Yt
A


http://kcm.co.kr/bible/kor/Heb1.html#%ED%9E%88%201:3
http://kcm.co.kr/ency/study/cross/
http://kcm.co.kr/ency/names/0509.html

O|A2 O J2|AE0f Bigh At Hi2 7HQ12| 41 1HO[7| = BfL|C}.

AME HiE2 o= EOf thoto M 7tX| & A= L Tt

AW, ol==Eol of & T=S H=D

=
o
re

FHg MELC

ME HiE2 O E0| 20[X| OfL|5t= StLt el d0[2f gLt

2 1:15) 2= HO|X| OHL|3Hs St HAOA|R ZE HZSHCE K LEAl O[A]L

StLbE2 E20[X] H= SO LILY.

LIS O =]
d7|0f stLid &S A =2 AtE2 o Al e Gls U o
(2 6:16) 2% J0|A 2 =X| OfL|FO[ U1 Zp7t0] ZhX| g SO AHSIA| D O AR =

X ZotRD £ = 5 Yl OlAIL oA &7t SRS 2sS =EX|0{Ct ofH

i

OB StLEHO| ARl =0l 20|= WA= LIEtLEY AFZ0] BOojR 2L BFZ 0 22| A k9]
MAl AFAQILICH

StLHEC| OFF, OfL StLi o4l o= A2|AE7t StLHHS| Y22 O[T o 248 AYLICE
(2 147) HSJ7} LIS LUEEH W OfHX| = LA 2| 2L} O[MFEHE Ho7 I8 LD

£ 2t=L2}

(2 14:8) LEO| O|2E| 0| OIHX|E 22|0|AH 0 FZ2A O2|5HH ZSHZLIO|Ct
(2 14:9) O =7H M O|2A|Z| LEIO} LY7} O|HA @2} 3|9 e U2 %] Y 7F LIS X

ROt LS = Ah= O XIS ERAH S O{BH0] OtH X[ 0|2t St=Lf
(2 14:10) L7t Ot X| QFO| A5t OfHX|= Lif 2toff Al Z4S W7t @A OfLSH=Lt

Ol2= 2 &2 Stz 0] OfL{2t OFHX|THIA L QFofl AIMA 19| L2 StAl= AOol2t
g4 sot0] oS Tt 20 FH50 M2 R2| d== StLtHE 2 AYLICH
07| M "StLi el H4'0l2h StLtEel @ O|0|X|E Kot= Z0| Ot ULt

StLiESl 95 ettt



SENC PN

(& 1:1) EH=0f| SHLEHO| XS F=SHAILI 2}

(& 1:2) EOl==3t S3{5tH 50| ZZ /0] AL stLESl S2 +=H 20
ZASHA|L 2t

(& 1:3) otLtEO| O|2A|E| 80| Rl22f SHAIL] 80| /U

(& 1:6) otLEO| O|ZAIE & 7H2 0 SOl A0 =3t S22 LiF(2F StA[

(& 177) StLIHO| 38E TEAI SF of2fe] =0t 3 flel 22 LA StAIY M=
gL 2t

(& 1:9) otLtEO| O|2A|E| Mot 20| ot X2 2 20|41 0| E&{L{Z} StAIL M2
gL 2t

(& 1:11) StLEEO| O|EA L B2 0t M S KA 27| SRINE M 742 o =
LIEE LWet SHA|L 02 &[0

(& 1:14) StLEEHO| O|ZA[R| St=2| & AN SZ0] A0 Rt LS LiF|A st AAEE
Yl A= St i E O|F A otef

(& 1:20) StLEEO| O|EAE| 252 HE2 HASH St T 2| 5t=2| sEl= M7t E22t
StA|

(& 1:24) StLEEHO| O|EA L B2 HE22 1 SFU= WE| 7=t 7= A Eo| HsS
Z2rj2 Wat tA|L 2 guat

(& 1:26) StLEEHO| O|ZAIE| 22|29 WS et e[ RYLHE RE|7F AR E BHE1
OS2 HICHS| E17(9t 5h=2] Met 7h=51t & it Hof| 7| 2= AS ChAa2|A
SHAF A2

1]

B O s, WA =0 AME 2 ZS0[ B2 o d2jA= YL C
(2 1:1) EfZ=0| 2Z0| AA[LIZE O] *Z50| StLiE Dt 2H AN O EE2 =
StLHEO[A| L2}



(R 1:2) 37F EfX0f spLbd Tt S AN

(2 1:3) 2H20| 12 0|0} X2 Hf g|9eL] X2 Ho| st 17} gloje & o]
gleLa)

(R 1:14) T20| S4I0| &|0f £2| 712 H HAIO) 22|17 10 HBS ®L| OfH{X|Q)
SMxto| JZo|Q Ssfot Ta| 7t SotstE e

Ol=EHM 2E2S SZoMCHE 27t D=2 BEELE HAY AMS2 st LYLC,.
(Z 1:17) £t 271 =ECF BN AA|D =0 1 2ol ghi| Jl=L 2t

At HtE2 O=Ee dMdS o0 ool §EdS M=5tn AL

At HE |~ 0] Wolo] H2|A[2} 5|0 BHE0| 2F0[2t ghLCf.
(Z 1118) A= =2 u2|o HE[Al2t 7} 2=0[AR F2 A5 720 HA Lidl OfAlL

Ol= 5| Bt=2 250| [ 3taola
gl ol R|H Y LILY.

‘A7F 220X 0M 222 AE KF0lgts X2z TEs =0 20| FHO|AZt=

=]
‘22 A ZH2OM BA Ll o' MEe SH 2 B XS A Fovt [ MThE YL
x



i

A SAt SELEEH A 2T EA

(Z 1:19) OFHXHM = B= S22 O QHof| AHSHA 5hA| 2

= floll 550[20] HE

2

L
ol

i

ol
ol

ILICt.

oto
= -

HA I:l-E

Qx| ol 27t &l

x7| BRIF A, AR |2k A

=20 At HfE2 O

A A =Zok AYLICE

=
o

1 F2H22M 22 2l5f otLtEnt

m
o[

I

CH5oH7| 28l A7t

el 2|

(o]
[

ol EHME

orl

H & LICE

10

il
=<
=0
MU
ohu

od

(2 1:20) 19| AMX}7to| I Z 3t EHE O|FAt

= 7|t St 0l 2t

2317 57|

12 Z0/YOot xt7| et 2t

= Stofl SilELICh

=z

#

f

=

X2k S A M =

=
o

a

F& LICE

10

#

ojn

Al

& LIC

2 o d2|Ak0| S22 HO|R0F oA ofH X I¥X|2| &= 2|75

ot =5t EASLIE

Ul
jol

(= 1:21) Mo


http://kcm.co.kr/ency/study/cross/

a0l g4

—

2 A0 Y= A= O Hof| MR} SHR 2L

H

X
S

(= 1:22) O|X|

-

joll

-

=M

E
[o¥

folo

sy
=

AtE HtE2 Ol EHAM

20| gl= A2 otLtd 2o Ml27| #l2tolat

ojn
HK

I

a1

20

Ol4 12|AE0| £ Alo= TOjo} siLiE T SH2H & 22|

A

ALY =S S = P

XHOtS
1o =

= L

folo

1

ofnu

=0

o

ofl A

L

m]
o

@

St B 9lof 27 AA =89
2 bt 229
2l BhR Lt b

=
=

|7} 2S00 Aot B 2o =4 MM H3]

-
o

(& 1:23) 0t

of Al M

od
od

F

P

1o
=
ol
oo
r

4

2| x| ofLotH J2[st2|2t O]

ul
folJ

R[S

i=]

P2

-
(@]

2| x| ofY

—

0| &| R =2}
=

—-_
[=)

—

B0 =AH MA

olo

m]

O[AlZ|0f Ol ~5 B =

IH

SHAIZ|of

|

2
=

H AR HIZE o) J2AEL S
71 2fef O Qlof 1 oftH HE B

| et

AL S, AFEFS KTH|, O3 o ASE EREUSLICH

SHAIZ| = RILIC.

O[ & L{77t?

L|Ct.
=

ot d& O2lE,

.I

oft

2| x| &a
P2yt
o

[
O

L
AL
T

A

o

| &

T2

o

o of% 1zl


http://kcm.co.kr/ency/names/0509.html

o|2|of CIE

L
[=|

7| 23 o220 21 U= o=

b

FohM L7k

ofzige Hag
—

)(KDH7

ol

A/
ol

i
<

4

oF-

227t glgt

F

.
=

o

o HE o

=

—

Ol d2[&k, 550|2/0f Cf

H ZO0IAIZ| = &L Ct.

0lJ

1

FEFO|YLIC

—

—

@3] o] H2lo| ALk,

o=~ 2|ax

L ct.

2

o o] g7

Al
—

ol



